@ 2 ® 3 @ 4 ® 5

D1



o
&

y=3x-3°lA £(2) 9

@ 2 ® 3 @ 4 ® 5

1



= -3x+34 W, £(2)+f(-2) & 27

®0 @ 6 ® 2



AMADx=3y=4, x+y=a7l T+ 3

zhe?

@ 5

@ 6

® 7

@ 8

® 9



F A y = ax -6,y = —x + 6 9 I mo] WHo| g

y=2x+0 9 TeI 9] 91S 1, a ] S ToHH?

© -13 @ -7 ® -1 @1 ®7



6.

AAdy=x+1y=3x-1,y=2x+a 7} &
o, a ©] F4-& FSHH?

® -2 @ -1 ®0 @1



I:BC=1:7¢ B: AC & vt24 35t A-L8?
A
Gosl
B NN C

D 5:2 @ 6:5 ® 7:3 @ 11:9

® 13:7



8. oS 1"lA H G aABCY FAZFA I AD = 18cm & W,
HG 9] do]=?

A

@D 2cm @ 3cm ® 4cm @ 5cm ® 6cm



9. o2 I1"A H G = aABC o RAFAHItt. BC = 24cm ¥
AD ©] ZoJ& H2A 3 A7

A

@ 34cm @ 35cm @ 36cm @ 37cm ® 38cm



